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EPTAXTHPIO 2
Anuoveyia aroifac - Stack ue yprjon mivaxa
Aoxnom 2.1

Me Baon to mapardtw Stack interface mov meptypdger 1 Aettovpyio pag otoifag, vo
vAornotnoete v ArrayStack class pe yonon mivona.

Apyeto Stack.java

public interface Stack

{
public int size();
// Returns the size of the Stack

public boolean isEmpty();
// Returns true if the Stack is empty

public boolean isFull();
// Returns true if the Stack is full

public Object top() throws StackEmptyException;
// Returns the top item of the Stack

public void push(Object item) throws StackFullException;
// Adds a new item into the Stack

public Object pop() throws StackEmptyException;}
// Removes the top item of the Stack

Apyelo StackEmptyException.java

public class StackEmptyException extends RuntimeException

{
public StackEmptyException (String err)
{
super(err);
h
h




Apyeto StackFullException.java

public class StackFullException extends RuntimeException

{
public StackFullException (String err)

{
j

super(ert);

‘Aoxnon 2.2

Anprovpynote pa otoifo and portntég -ypnotponotnote v Student class anod 1o epyaotELo
2. Exteléote 11 Baotnég Aettovpyieg g otoiBag.

I'x emmAéov EEdoxnom

No yoopel mpoyoappa Java yix Tov EAeyyo TS 0WoTNG YENoNS Twv ntapevbéoewy () oe pix
aptbpntny mopdotaoy yoenoponowwviag 1) Sopn Sedouévwyv otoifa. To mEoyeappo vo
EMOTOEPEL NVLUX €&V 7] aEtOUN T TTEdoTaeN elvat owoT 1] eav éyet Axbog, va avapépet 10
onpeto mov Ponxe 1o Aabog. Enexteivete 10 npoypopps oog mote va yivetor eheyyog oe {} xout

oe [].
Tepocderyporre

(1+3)%3%(2+2)
Result: No error

1+3)*3*(2+2)
Result: error at position 4 !




